PΙ	<b>A</b>	NT	$\mathbf{F}\mathbf{N}'$	FFR	PR	PICEC	PRO	DII	CTION	
			1717	יועו ו		כועוכוו	1111	יטעי		

		<u>PLANT EN I</u>	<u>TERPRISES PRO</u>	DUCTION		
Crop	Number of Producers	Acres	Yield per Acre	Total Production	Units of Measure	Gross Farm Value
COTTON						
Lint - Irrigated		33,363.0	900.00	30,026,700	lbs.	\$15,613,884
Lint - Non-irrigated		14,298.0	700.00	10,008,600	lbs.	\$5,204,472
Seed - Irrigated		33,363.0	1,440.00	48,042,720	lbs.	\$2,642,350
Seed - Non-irrigated		14,298.0	1,120.00	16,013,760	lbs.	\$880,757
Cotton (Total)	150	47,661.0				\$24,341,462
FORESTRY						
Pulpwood						
Pine					cords	
Hardwood					cords	
Pulpwood (Total)				6,865		
Chip & Saw				16	cords	
Saw Timber						
Pine					board feet	
Hardwood				· · · · · · · · · · · · · · · · · · ·	board feet	
Saw Timber (Total)				1,068,333		
Total Pulpwood, Chip & Saw, Saw Timber FOB Mill	,					\$916,019
Total Forestry Stumpage						\$505,200
Forestry (Total)						\$916,019
FRUITS						
Figs	*	2.0	325.00	650	lbs.	\$780
Peaches	*	2.0	405.00	810	bu.	\$24,300
Fruits (Total)		4.0				\$25,080
FEED GRAINS						
Corn	140	45,244.0	160.00	7,239,040	bu.	\$16,577,402
Grain Sorghum	50	6,936.0	50.00	346,800	cwt.	\$1,387,200
Oats	*	237.0	75.00	17,775	bu.	\$42,127

PI.	ANT	ENTER	PRISES	PRODUCT	ION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
Feed Grains (Total)		52,417.0				\$18,006,728
HAY FOR SALE						
Grass	100	10,000.0	3.50	35,000	tons	\$1,750,000
Hay for Sale (Total)		10,000.0				\$1,750,000
HOME GARDENS	800	Ź				\$240,000
PECANS						
Improved	7	865.0	890.00	769,850	lbs.	\$885,328
Native	45	20.0	150.00	3,000	lbs.	\$1,800
Pecans (Total)		885.0				\$887,128
RICE	*	921.0	45.00	41,445	cwt.	\$230,020
SOD PRODUCTION	*	180.0			acre	\$638,280
SOYBEANS	150	37,205.0	40.00	1,488,200	bu.	\$9,896,530
SWEET POTATOES		Ź				
Canning				632,520		\$1,265,040
Fresh				1,174,680		\$21,144,240
Sweet Potatoes (Total)	*	4,518.0	400.00	1,807,200	bu. (50 lbs.)	\$22,409,280
VEGETABLES		Ź				
Broccoli (Fresh)	*	2.0	450.00	900	cartons (20	\$13,500
					lbs.)	
Cabbage						
Fresh	*	7.0	750.00	5,250	sacks (50 lbs.)	\$36,750
Cabbage (Total)		7.0				\$36,750
Collards						
Fresh	*	25.0	450.00	11,250	doz. bunches	\$78,750
Collards (Total)		25.0				\$78,750
Lima Beans						
Fresh	*	324.1	81.00	26,252	bu. (32 lbs.)	\$787,560
Lima Beans (Total)		324.1		·		\$787,560

## PLANT ENTERPRISES PRODUCTION

Crop	Number of Producers	Acres	Yield per Acre	Total Production	Units of Measure	Gross Farm Value
VEGETABLES						
Mustard (Fresh)	*	35.0	450.00	15,750	doz. bunches	\$110,250
Southern Peas (Fresh)	*	423.4	114.00	48,267	bu. (24 lbs.)	\$965,340
Squash (Fresh)					,	
Yellow Squash	*	4.0	200.00	800	bu. (45 lbs.)	\$9,600
Squash (Fresh) (Total)		4.0			· · · ·	\$9,600
Sweet Corn (Fresh)	*	6.1	680.00	4,148	doz. ears	\$12,444
Turnips (Fresh)	*	35.0	450.00	15,750	doz. bunches	\$110,250
Vegetables (Total)		861.6		,		\$2,124,444
WHEAT	90	23,214.0	45.00	1,044,630	bu.	\$3,363,709
TOTAL ALL PLANT ENTERP	RISES	- ,				\$84,828,679

## FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

Fisheries	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
AQUACULTURE					
Crawfish (Farm)	*	80 Acres in Prod	1. 24,000	lbs.	\$15,600
Catfish (Farm)	12	4,997 Acres in Prod	17,489,500	lbs.	\$9,969,015
Alligators (Farm)			58,695	ft.	\$997,815
Aquaculture (Total)					\$10,982,430
FUR ANIMALS			272	pelts	\$1,442
ALLIGATORS (WILD)			22	ft.	\$495
HUNTING LEASES	15	17,500 No. Acres Leased		acre	\$96,250
HONEY	*	15 No. Hives	1,500	lbs.	\$2,025
TOTAL ALL FISHERIES &	& WILDLIFE ENTERPRISES		•		\$11,082,642

# ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production		Total Production	Units of	Gross Farm Value
	Froducers	FIGURCHOII		rioduction	ivicasuic	v alue
CATTLE & CALVES						
Steer Calves 300-400 lbs.				2.050	la a a d	\$744 OOO
400-500 lbs.				2,050 2,700		\$744,909 \$1,128,614
500-600 lbs.						\$1,128,614
600-700 lbs.					head head	\$482,444
				600	nead	\$312,000
Steer Calves (Total)						\$2,667,966
Heifer Calves				2 200	1 1	\$72.C 252
300-400 lbs. 400-500 lbs.				2,300		\$736,253
400-500 lbs. 500-600 lbs.				2,600	head	\$980,109
600-700 lbs.						\$362,032
				30	head	\$24,375 \$2,102,769
Heifer Calves (Total)						\$2,102,709
Yearling Cattle 600-700 lbs.				1,700	hand	\$884,000
700-800 lbs.				2,100		\$1,181,250
Yearling Cattle (Total)				2,100	neau	\$2,065,250
Cow-Calf Pairs				700	pair	\$504,000
Cull Cows					head	\$429,293
Cull Bulls				,	head	\$42,293
Cattle & Calves (Total)	290	14 000	No. Cows	00	neau	\$7,813,107
HORSES	290	14,000	No. Cows			\$7,013,107
Brood Mares						
Race Horses	*	5	No. Brood Mares	2	head	\$12,000
Show Horses	*		No. Brood Mares		head	\$45,000
Recreation Horses	30		No. Brood Mares		head	\$135,000
Brood Mares (Total)	50	100	110. Brood Marcs	70	neud	\$192,000
Stud Fees						ψ1 <b>,000</b>
Show Horses		5	No. Stallions	100	mares bred	\$150,000
Recreation Horses			No. Stallions		mares bred	\$20,000
		10		200		Page 4 of 5
						1 age 4 of 3

### ANIMAL ENTERPRISES PRODUCTION

		AL ENTERPRISES PRODUCT			
Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
HORSES					
Stud Fees (Total)					\$170,000
Race Horses	*		10	head	\$100,000
Show Horses	15		30	head	\$120,000
Recreation Horses	570		1,140	head	\$1,140,000
Horses (Total)					\$1,722,000
GOATS					
Slaughter Goats			675	head	\$57,375
Stocker Goats			45	head	\$2,925
Cull Goats			45	head	\$1,890
Goats (Total)	15	450 No. Does			\$62,190
SWINE					
Show Pigs			100	head	\$30,000
Feeder Pigs			150	head	\$2,700
Slaughter Hogs			75	head	\$9,263
Swine (Total)	*	40 No. Sows			\$41,963
TOTAL ALL ANIMAL I	ENTERPRISES				\$9,639,260
FRANKLIN PARISH	TOTAL				\$105,550,580